

Resolution 2019-08

A Resolution Regarding Award of Bid on Volkert Project Number 1005600.ALR Magnolia Springs Pavement and Drainage Rehab

WHEREAS, the Town of Magnolia Springs, Alabama received bid in connection with Volkert Project Number 1005600.ALR Magnolia Springs Pavement and Drainage Rehab.

WHEREAS, in connection with Volkert Project Number 1005600.ALR Magnolia Springs Pavement and Drainage Rehab, the Town of Magnolia Springs, Alabama received a qualified bid on Thursday, April 4, 2019 at 2:00 p.m. from the following companies:

American Asphalt, Inc.
(Copy of Bid Tabulation Sheet Attached)

WHEREAS, after reviewing the submitted bid and information, recommendation from Volkert & Associates, Inc. is that the low base bid of \$50,330.00 from American Asphalt, Inc. be awarded.

NOW THEREFORE, BE IT RESOLVED, AS FOLLOWS:

- 1. That the Town Council of the Town of Magnolia Springs, Alabama upon said recommendation move to award the low base bid to <u>American Asphalt, Inc.</u> in the amount of <u>\$50,330.00</u> for Volkert Project Number 1005600.ALR Magnolia Springs Pavement and Drainage Rehab Project.
- 2. That the Mayor is authorized to execute any and all documents necessary to start the project.
- 3. That this resolution and all supporting bid documents will be kept by the Town Clerk on file as public record.

Approved and Adopted this the 23rd day of April 2019

Bob Holk - Mayor

Jenny Opal White – Town Clerk

Volkert, Inc. 1680B West 2nd Street Gulf Shores, AL, 36542 (251) 968-7551 www.volkert.com



April 5, 2019

Honorable Bob Holk, Mayor Town of Magnolia Springs 12191 Magnolia Springs Highway Magnolia Springs, AL 36555

Subject:

Volkert Project Number 1005600.ALR

Magnolia Springs Pavement and Drainage Rehabilitation

Letter of Recommendation

Mayor Holk:

Enclosed is the Tabulation of Bids from the April 4, 2019 bid opening on the above-referenced project.

We have reviewed the single bid proposal submitted and found no arithmetic errors. The low base bid price of \$50,330.00 was submitted by American Asphalt, Inc.

The bid was reviewed for unbalanced bidding and appears to be in order. Therefore, we recommend that American Asphalt, Inc. be awarded the contract to perform this work.

Should you have any questions or require additional information, please call.

Sincerely,

VOLKERT, INC.

Andrew E. James, P.E.

Project Manager

w/enclosures

VOLKERT

TABULATION OF BIDS

NGS PAVEMENT AND DRAINAGE REHABILITATION PROJECT

	BASE 8	ID.		American Asphalt, Inc.		Engineer	
ITEM NO.	DESCRIPTION	UNIT CUBIC YARD	QUANTITY 6	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
				\$25.00	\$150.00	512 50	\$75.00
214A000	STRUCTURE EXCAVATION	CUBIC YARD	6	\$25.00	\$150.00	\$35.00	\$210.00
214B000	FOUNDATION BACKFILL, LOCAL	ROADBED STATION	12	\$625.00	\$7,500.00	\$450.00	\$5,400.0
230A000	ROADBED PROCESSING	SQUARE YARD	1850	\$1.50	\$2,775.00	52.00	\$3,700.0
401A000	BITUMINOUS TREATMENT A	TON TON	165	\$116.00	\$19,140.00	\$125.00	\$20.625.0
424A360	SUPERPAVE BITUMINOUS CONCRETE WEARING SURFACE LAYER, 1/2" MAXIMUM AGGREGATE S		16	\$120.00	\$1,920.00	\$65.00	\$1,040.0
530A101	18" ROADWAY PIPE (CLASS 3 R.C.) (EXTENSION)	LINEAR FOOT	10	3120.00			
600A000	MOBILIZATION	LUMP SUM	1	\$5,500.00	\$5,500.00	\$5,000.00	\$5,000.0
		EACH	2	\$750.00	\$1,500.00	\$800.00	51,600.0
619A101	18" SIDE DRAIN PIPE END TREATMENT, CLASS 1	CUBIC YARD	1	\$750.00	\$750.00	\$800.00	\$800.00
620A000	MINOR STRUCTURE CONCRETE	CUBIC YARD	5	\$100.00	\$500.00	\$15.00	\$75.00
650B000	TOPSOIL FROM STOCKPILES	SQUARE YARD	25	\$10.00	\$250.00	\$7.50	\$187.50
654A004	SOLID SODDING (ST. AUGUSTINE OR CENTIPEDE)	ACRE	1	\$2,000.00	\$2,000.00	\$2,200.00	\$2,200,0
665A000	TEMPORARY SEEDING	TON	1	\$1,750.00	\$1,750.00	\$1,500.00	\$1,500.0
6658001	TEMPORARY MULCHING	LINEAR FOOT	252	\$7.50	\$1,890.00	\$15.00	53,780.0
665Q002	WATTLE	NAME AND ADDRESS OF TAXABLE PARTY OF TAXABLE PARTY.	232	\$2,500.00	\$2,500.00	\$2,250,00	\$2,250.0
680A001	GEOMETRIC CONTROLS	LUMP SUM	51	\$30.00	\$1,530.00	\$30.00	\$1,580.6
740B000	CONSTRUCTION SIGNS	SQUARE FOOT	25	\$20.00	\$500.00	525 00	5625.0
740E000	CONES (36 INCHES HIGH)	EACH	25	\$1.00	\$25.00	\$10.00	5250.0
740M001	BALLAST FOR CONE	EACH 25 TOTAL BASE BID		\$50,330.00		550,847.50	

I, Andrew E, James, Project Manager, Volkert, Inc., do hereby certify that this tabulation of bids received by the Town of Magnolia Springs on the 4th day of April, 2019 for the construction of herein referenced project, is a true and correct copy of the bids submitted by the within named corporations.

Andrew E. James, P.E. Volkert, Inc. - AL PE Lic. No. 30853

MAGNOLIA SPRINGS

NOTICE OF AWARD

DATED:

APR 0 9 2019

TO: American Asphalt, Inc.

P.O. Box 909

Magnolia Springs, AL 36555

Magnolia Springs Pavement and Drainage Rehab PROJECT:

You have been awarded a contract Magnolia Springs Pavement and Drainage Rehab.

Within ten (10) days of the date of this Notice of Award, you must deliver to the OWNER the enclosed contract documents, fully executed, signed and witnessed, and a Certificate of Insurance as follows:

3 originals - Contract

1 original - Performance Bond

1 original - Labor and Material Bond

l original - Certificate of Insurance certifying compliance with all insurance requirements specified in the General Conditions

Within ten (10) days after receipt of the above documents, OWNER will return to you one (1) fully signed original of the Contract.

You will be notified of the time and place for a preconstruction conference; your proposed work schedule must be delivered to the Town at that time.

Failure to deliver the aforementioned contract documents and insurance certificate within the time specified will entitle OWNER to consider your bid abandoned, to annul this Notice of Award, and to declare your Bid Security forfeited.

TOWN OF MAGNOLIA SPRINGS (OWNER)

By: Bot Idolk
Honorable Bob Holk, Mayor